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O=g%"ota &4A 8,000 =100 800
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01 = LH o4 1l 23,520 21,840 1,680
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Osdtsetdd 244 2 22224
77,0003 »2H 60 9,240
201 ¢er24] 15,800 15,800 0
01 At 22l 800 800 0
OSMSUEY 244 29 28|
800,000 » 14! 800
02 =224l 15,000 15,000 0
Osttsetdd 244 ALFH =X
15,000, 000& 14! 15,000
206 M= Hl 1,200 1,200 0
01 M= 4l 1,200 1,200 0
OSMSUEY 244 29 W2
30,000& 405 1,200
207 & O &l 50,400 50,400 0
03 Al & 1HI 50,400 50,400 0
Osdsetdd 244 24 50,400
PEAE JiA 200,000 x65 123 14,400
DUFTsAEZA EEAMA 21,000,000 14! 21,000
DAEE JIAM 15,000, 000& 14 15,000
405 TtHobF S| 2,000 0 2,000
01 AL EFH S 2,000 0 2,000
Ode D] 2,000,000 = 1CH 2,000
SEHEY 2¢ 37,000 43,000 A 6,000
= 18,500
Al 18,500
201 ¢er24| 12,400 18,600 A 6,200
= 6,200
Al 6,200
01 At 22l 12,400 18,600 A6,200
OANg SEHM= 100& *15,0000H 1,500
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Al 750
OHY AEH™el === 6603 *6,000L 3,960
= 1,980
Al 1,980
OXHEZEF =2 1,870,000& 101 & +23] 3,740
= 1,870
Al 1,870
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Al 1,000
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Al 13,000
101 @124l 26,000 24,070 1,930
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Al 13,000
04 JIZHHZ2XNSE+ 26,000 24,070 1,930
ONERL SHIRSE SFA 29 JAM22
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= 13,000
Al 13,000
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J| 3,823
2805 DIME 28 MY 5,000 0 5,000
206 M= Hl 5,000 0 5,000
01 2l 5,000 0 5,000
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02 232%H4| 8,200 8,200 0
OASANEE sIH A=l 800,000 =4CH 3,200
OASANEE AlEAH KXY 500,000 x10= 5,000
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ONSYsAL Agls o M= DY
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01 AL EFH S 1,300 0 1,300
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101 @14 Hl 46,200 43,800 2,400
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01 At 22/l 8,000 7,250 750
Osgigssd 29 =&l
2,000,000& »14! 2,000
OsgMEnad=zg ZA=Y 150,000 403l 6,000
02 =224l 5,000 5,000 0
OsgHEgssd ANLEFEH KX
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206 M= Hl 15,000 15,000 0
01 =8l 15,000 15,000 0
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206 M= Hl 15,000 15,000 0
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